Political Science
Paper 1I

SIIMHA
g9uteRTt 11

Time Allowed : 75 Minutes] [Maximum Marks : 100

Note : This Paper contains Fifty (50) multiple choice questions, each question
carrying Two (2) marks. Attempt All of them.

AT : A YR HL) THY U (50) SgUARt 9 fooidl STA Udsh YRR @M ()
0 . W Y gred.

1. The meaning of Kantaka Shodhana | 1. %% Iy IECE =N :

Court is :

(A) feamit e
(A) Civil Court

(B) =R A&
(B) Criminal Court

(C) TR fRren o fasie =mes
(C) Special Court to try criminals

(D) Tribunal (D) —ATATETRI

20

2. SIfEree= Hd aH ST qg] TsArAl

2. According to Aristotle, slave and

animals cannot form the state 9N Bl Yehd AR, HRU

because : (A) § T FEER A
(A) They are extremely weak

(B) <M1 g9yl o ivar= QA=

(B) They have no share in the life SN

of free choice

(C) M SW Tolidl TIF AEaSa
(C) They enjoy subservient position

D) d JdgHT hH%ad THAM
(D) They lack intelligence (D) @ 95 8
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Who said it ‘give unto God that
belonged to God, give unto king that
belonged to king’ ?

(A) Pope Gelasius
(B) Saint Paul

(C) Jesus Christ
(D) Saint Augustine

Who opposed the secret ballot and

proposed open ballots system ?
(A) T. H. Green

(B) J.S. Mill

(C) Bentham

(D) Hegel

Lenin was of the opinion that in

revolutionary politics :
(A) Cities should encircle villages

(B) There should be alliance of

workers and farmers
(C) Villages should encircle cities

(D) Peasants should be vanguard of

revolution.

‘S QA R G <A T, | USE AR
d TSE Q' OIH HU WU

(A) 99 TR
(B) §e dfa
(C) Iy fgw
(D) §e e

T A<M Tgdiel falie e gedl HaaH
TSd O [ERR el ?

A) 9. @ U

(B) 3. TH. fHes

(C) Srem

(D) &

e

= Od ShifaeRes TSTehOT :

(A) IRUA T 9RTE SgH <TRE

(B) TR 9 dendl JT= STETS! hel

(C) SISl YRUH o3 I

(D) IRy HidE TS AHE
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Which one of the following is the

credo of post-behaviourism ?
(A) Value relativism

(B) Value neutralism

(C) Relevance and change
(D) Relevance and stability

Mao Tse Tung’s theory of three

worlds consists of :

(A) U.S.A., China and Afro Asian

countries

(B) U.S.A. and West Europe, Soviet
Union and East Europe and
Countries of Asia, Africa and

Latin America

(C) U.S.A. and U.S.S.R., West
Europe and East Europe and

Asia, Africa and Latin America

(D) U.S.A. and China, U.S.S.R and

India, Africa and Asia

GcATAdsh] HId dvd ST HagRaRN
I 3R ?
(A) oI HUEaER

(B) gea TRugdmEns

(C) IHAdl 9 &

(D) Tl a ¥k

melt & g d= sen fagiana

CTCTTdeh! IOl TSCHHEa  FHTee

gl ?
(A) 3TfGRT, =9 o STHI-NEE <9

(B) THR&hT 9 4. gU, Hifoaa 99 9

Tal I, SREE <9, 31fthent 9 ffed
Rt

(C) e 9 Wfgaq 99, 9fy=y o
& U9 9 ST, Sifthent 9 wffed
AR

(D) =TT 9 =4, difasd 99 9 9Rd
AT I I
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10.

Who said it, ‘Graded inequality is
the hindrance in establishing social

democracy in India’ :
(A) M.G. Ranade

(B) Dr. B.R. Ambedkar
(C) M.N. Roy

(D) M.K. Gandhi

Which of the following is a

libertarian thinker ?
(A) Michael Walzer
(B) Ronald Dworkin
(C) Robert Nozic
(D) Syla Benhabib

Which one of the following pairs is

correctly matched ?
(A) Cultural Revolution —Trotsky
(B) Passive Revolution —Gramsci

(C) Permanent revolution —

Mao Tse Tung
(D) ‘Jasmin’ revolution —

G.A. Nasser

10.

‘aRarda Aviids fouma @ g

ATHIME! TATIA=AT AT TS 2ol

AR 9 HU WO ?
(A) . . e
(B) ST &l. 3R. 3MeEHL
(C) T .

(D) WH. . el

Gkl IOl fa=ad  Sdsdran]

e ?

(A) HIEFhe Feg
(B) UIee el
(C) W2 Hrsfien
(D) el TS

ETATAd T HITET SISl TN IHR

e 3Telt 3Te ?

(A) — JEEht

N

qrhide S

(B) STRIUMCH Shict — T

(C) HETEEd HIdl — A & G

(D) ‘SifEE’ wid — S TOARR
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11. Who among the following adopted
decision-making approach to study
power ?

(A) Gabriel Almond
(B) Sydney Verba
(C) Robert Dahl
(D) David Easton

12. In which country the option of
replacing the ‘first past the post’
system was rejected recently ?

(A) U.S.A.
(B) India
(C) England
(D) France

13. A feature of the semi-presidential
system is :

(A) The President’s powers are
shared by the speaker of the
Lower House

(B) The President is elected by the
people and the Prime Minister

is responsible to the Parliament

(C) There is provision of President
at the centre and Presidents of

Republic

(D) There is a collegiate that
performs the role of the

President

11.

12.

13.

FEB-15213/I1
TSTh I A=l S-SR IdMT Seiedeh]

EIRIES]

FrEsT  fAvfg-fauafro

gfichiMTal STacie hall 3T ?
(A) Tifoua e

(B) T =i

(C) Ve e

(D) Sfes T

‘B URE € U SOl STl YA
Thdra 10T QUMd heledell el ?

(A) 3R

(B) d
(C) ¥de
(D) WA
froereefi =N us Jfyme TN

(A) T3 FUFTRTET QT AsTeA =
HHe Gl Brdl

(B) TSI1eAe] & ekl faseien STl

A0 YU & THSSAl SeTegR

Il

(C) sgmme ofor gSTETHRIAEET
AP TS 3

(D) 318 Heos USIEAET™ &1 UR
red
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14.

15.

16.

In the traditional political system,

authority is legitimised through :
(A) Election

(B) Selection

(C) Consecration

(D) Conquest

Who has initiated reforms in the
composition of House of Lords in

England ?

(A) Swaraj Paul
(B) Bhiku Parekh
(C) Meghnad Desai
(D) Adam Patel

One of the reasons for the erosion

of parliamentary sovereignty is :

(A) Formation of coalition

governments
(B) Globalisation
(C) Decline of imperialism

(D) Decline of Bi-cameralism

14.

15.

16.

TRIRe TS FJaeamy Afyex=
AfT=fitor HIMGR B ?

(A) Trafed

(B) fae

(C) TsATHeh
(D) Fgwre e

Tael B AE Aledl =4

Teieueh! IV R Fafaedn 3Ted ?

(A) @R i
B) frg @
(C) HoAE EE
(D) T A

TESHT e fod Soare Teh SRl
BN

(A) 3TITSl TIhII=l LTIl

(B) SIfdentehor

(C) 9rsgde=l 8-

(D) fg-avraRM™l =™
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17.

18.

19.

Who is the author of the book,
‘The Cabinet Government’ ?
(A) Walter Bagehot

(B) Ivor Jennings

(C) Allan Ball

(D) S.E. Finer

Which one of the following is NOT

a federal state ?
(A) USA

(B) India

(C) Sri Lanka
(D) Pakistan

The semi-Presidential system is

found in :
(A) USA
(B) UK

(C) India

(D) Russia

17.

18.

19.

FEB-15213/1I1

‘T FfdHe TegHe A1 THIhT™ TEh HI
Jed ?

(A) dieet aTRle

(B) AR SIf

(C) e <t

(D) TH. 3. BER

Tl IO Q¥ oo @ ?
(A) F@fE

(B) ¥

(C) sitetent

(D) difehET™

FH-s1easfta e $Is 3 ?

(A) TR

(B) ITeE fwtew
(C) Y9rd

(D) W
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20.

21.

22.

Who among the following
emphasized ‘structural differen-
tiations’ and ‘secularization of
culture’ as the important indicators

of political development ?
(A) Lucian Pye

(B) Organski

(C) Almond and Powell
(D) Huntington

Who the

among following,

conceptualized “Modern, traditional

and saintly idioms” for

understanding Indian politics ?
(A) W.H. Morris-Jones

(B) Robert Hardgrave

(C) Myron Weiner

(D) Stanley Kochanek

Who is the author of ‘India : The

Most Dangerous Decade’ ?
(A) Robert Hardgrave

(B) James Manor

(C) Seilig Harrison

(D) Craig Baxter

20.

21.

22.

FEB-15213/1

EeicAUeh! hIUCAT ASITHRT  TSTeh 1

N oo

faswmara fRerd WA T=ATHS
fauritertor’ oo ek Ufeahish
I HehieR W feenm e ?

(A) I T

(B) QIR

(C) AHe 37for gfas
(D) &fereA

TIATT USTHNOT GHAS[A S THTHIS]
TIeiTeTdeht SRV ¢ STEfeh, AR ST
G R’ aTaeeft R ?

(A) T=Y. TH. WRG-S4
(B) T zEia

(C) " 9FR

(D) E=U HEHH

~

“gfed : T A S fede !’ § TH

vl fafee ?
(A) U greia
(B) S HAR
(C) Gfer BREH
(D) T SR
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23.

24.

25.

26.

The preamble is :

(A) a part of the constitution
(B)
(C)

not a part of the constitution

the last chapter of the

constitution

(D) a part of the directive principles

of state policy

Public interest litigation can be filed
by :

(A) affected party
(B) the judge

(C) the third party
(D) the state

Article 370 of the
Constitution defines the relationship

Indian

between the Indian Union and :
(A) Nagaland

(B) Punjab

(C) Jharkhand

(D) Jammu and Kashmir

Fundamental duties are added in
Indian Constitution by :

(A) 39th Amendment
(B) 40th Amendment
(C) 41st Amendment
(D) 42nd Amendment

23.

24.

25.

26.

YA =T e

(A) TSEET Th WM &)

(B) TSTE=l YA A&l

(C) TSTEeTd JFed Y AR

(D) TSI HFICSieh deali=l Teh 1N 3718

SHfed a1faeh KM gR TREA hail T

IR ?

(A) afYd 9&hR
(B) =medisn

(C) STIed Hfoki/ e

(D) TSTEE

AT TSTeAd 3709 shdd A

ey AT WITATAd R HIUTHT
T JEfud a2

(A) TS

(B) uST&

(C) 9rEE

(D) ™ Ao HIRHR

ARAE Toeed HE Jaqd ol

THEY DI AT TEKAA shell ?
(A) 39%f HeAgEE
(B) 40efl HeAIgEE
(C) 41l HeAgEE
(D) 421 HeAgEE
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27.

28.

29.

Secularism in the context of Indian

Constitution means :

(A) State is prohibited from making

laws on religion

(B) State actions are to be separated

from religion

(C) Heads of religions are not

allowed to take part in politics

(D) State does not discriminate on

the ground of religion

Right to property was removed from
Part III of the Indian Constitution
by :

(A) 41st Amendment
(B) 42nd Amendment
(C) 43rd Amendment
(D) 44th Amendment

Sarkaria Commission was appointed

to look into the relations between :

(A) the Prime Minister and the

President
(B) the Lok Sabha and Rajya Sabha
(C) the States and the States

(D) the Centre and the States

27.

28.

29.

FEB-15213/1

TR TSTEeA= Heyid  gH - eTd
BN :

(A) TIHEIAT YHfaoTS hRRe HiuaE
K]

(B) TSTGE Sl A1 & A=l BRehd

(C) EHTTE TSRO T S0 siet

(D) TSIEEAT A= STYNEl e
EXGEEIE

STEEdI HieTHO HeTqd Bfeh Shiuredl
HEAIGEEI! Hob W Usase-=A1 {oqa=4

JhIOMA <higell Tl ?
(A) 419 SRARERN
(B) 42t wreAgEwi
(C) 431w
(D) 44° SEAGEEI!

YR STEANT= AHU  hiumHeE
AT STl SIS HAel 2

(A) 9d JEM ST Jregudt

(B) crshas AIfoT TSI
(C) T TSIHHT TWEREe

(D) g A0 Teeh ToHHYA oy
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30. Who among the following is the | 30. ATkl ol Fefeia Srash-=re
subaltern peasant historian ? i asd efRed ?
(A) David Hardiman (A) fae TEtam
(B) Eric Stokes
(B) Teh Wrhd
(C) Jan Bremen
(C) SH o#A
(D) Kathleen Gough
(D) e T
31. Which of the following statements
is true as regards Central Vigilance | 3% hald T&Idl SERTEEd Jeledsh! ohlord
o faym sRAsR 3R ?
Commission ?
(A) The jurisdiction of the (A) TS SAfERT=== ST
Commission does not cover Non-
, HEYAT THEY Bd AR
gazetted officers of the
Government. .
(B) ATIIT=AT HTA QAT STEAT=AT
(B) The jurisdiction of the
Commission does not cover ST e el HHISRT B -
Gazetted officers.
(C) STENT= R T3l S0 AERR
(C) The jurisdiction of the
Commission does not cover IJd Eld.
ministers and members of the
Parliaments. (D) STERT 3Tl 3TEaTd FHaal HeX
(D) The commission submits its S
report to the Parliament.
11 [P.T.O.
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32. Which of the following names is | 32. &yl UM A@ ** TaeRIRIEA"’
associated with New Public It gEfyd ome ?
Administration ?

_ (A) JgI faeem
(A) Woodrow Wilson
(B) Dwight Waldo (B) EdRe delg,
(C) L.D. White (C) Tel. E. =L
(D) F.W. Taylor (D) ThH T&Y. X

33. Development Administration is : 33, fomm wOTET TN T o
(A) Rules bound (A) Frm 5
(B) Action oriented

(B) it Afvga
(C) Procedure oriented cm
(C) wEYSdl A
(D) Standard practices oriented
(D) yHIford ggdr sifvgE
34. Classical theory of organisation is ) h A
34. HEST=A AMHSIA fHgTTel gelerdshl Th
also known as :
A sl Sd
(A) Mechanistic theory )
(A) =tk fagr=
(B) Behavioural theory
. (B) w9eret fagr
(C) Psychological theory
C) wREETSTa fag
(D) Human relations theory ©

35. Which of the following is a ‘line’ (D) el [ 15T
function ? 35. YeIciush! iU Tk ‘IO H1d g ?
(A) Advising (A) FeaRo
(B) Fact finding (B) a'{ﬂﬁ:?l?ﬁ B
(C) Executing (C) 3T
(D) Planning (D) fsH

12

v StudentBounty.com



http://www.studentbounty.com/
http://studentbounty.com/

36.

317.

38.

Union Public Service Commission in
India is NOT concerned with :

(A) Making appointments to civil
services.

(B) Consultation relating to

recruitment to civil services.

(C) Disciplinary matters affecting

central government employees.

(D) Principles to be followed in
making appointment to civil

services.

The vacancies of the staff side of the
National Whitley Council in the
U.K. are filled by :

(A) The King

(B) The Prime Minister
(C) The Government
(D) The staff side itself

Which of the following statements
is correct as regards estimates
committee of Indian parliament ?

(A) The committee consists of 15
members.

(B) The committee is set up after

every 5 years.

(C) The committee consists of equal
members from Lok Sabha and

Rajya Sabha.

(D) Minister cannot be appointed on

the committee.

36.

37.

38.

FEB-15213/1I1

IRANIE T9 cAlehddl SR Jererdeh!
FUEN Ty FEar ?

(A) T Heehren e &)

(B) AT WaRT=AT IS Hodl

0
(C) g YT Haehiel Teiferd fari=a
Eici)

(D) A |ar=ar fAgFar wa
LI CRICTIC]

STe= eHA feeeal ifgal Heliel Yerehi
Th  TUEAT=AT S hi0 9l 2

(A) =T

(B) 9d9em
(C) =mEd
(D) VgHITH

qRIATdd gHe=al  3ers gfudi
9Ted qererds! HIvd faem aieR
AR ?

(A) GfFda 15 999e A9drd

(B) € 5 T4l WHGT TATIA et
ik

(C) Qffdia dreh |91 9 U9 91 I

A GHMES HdTd

(a) o [al

(A T4l

(D) HAET 9fH Sl Id ATl

13
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39. Right from the beginning, the most | 39. IUAUIHTAT '‘TRITA’ AT FEA=AT
contentious issue regarding the fHftfidier wata foema qey geicttent Hiom
creation of the institution of Lokpal T ?
has been : o S
(A) his pay and allowances &) B
(B) his tenure (B) TI=1 hTdhIc]

(C) his jurisdiction (C) et Frfsmat
(D) his qualifications (D) <=t s
40. “Good Governance’ stresses” : 40. ‘HETEA HOER’ MR W 24 2
(A) Bureaucratization A) ;
(B) Centralisation (B) S0
(C) Accountability (C) ST
(D) Abolition of government (D) =& T8I0

41. Which one of the following is a | 41. T<=T WCcTUeh! VAT H2eh TRATTRTT
tangible element of power ? h{dl Ik 3L ?
(A) System of Government (A) MET FaEd
(B) Social Coherence (B) HHISTET TehiSETTOT
(C) Military Strength © Rl
(D) Political Leadership (D) T g

42. Who appoints the UN Secretary | 42. HJok U= HeMfae=l THUE 00
General ? FT ?

(A) General Assembly and Security
Council (A) THEWT 3o ERan 9Reg

(B) Security Council and Economic (B) gan ufieg Sy 3Tk o |
and Social Council gfive

(C) Economic and' Social Council (©) sifdF 3 Smfas ufee o
and International Court of . .
Justice AT R

(D) International Court of Justice (D) STRASLE =T S0 ST
and General Assembly

14
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43. The turning point of the cold war

is considered as :

(A) Korean War

(B) Cuban Missiles Crisis
(C) Division of Germany
(D) Vietnam War

44. Which of the of the following is the

functional norm of the ASEAN ?
(A) Consultation and consensus

(B) Institutionalised procedures of
decision-making
(C) Principle of majority
(D) Principle of unanimity
45. SAFTA is the economic arm of :
(A) SAARC
(B) ASEAN

(C) EU

(D) NATO

43.

44.

45.

FEB-15213/1I1

QeiTeueh! IO IAFGIITE e el
e ?

(A) & Ig

(B) ATl &IOS =&

(C) wH= favrsH

(D) o™ g5

Teadsh] HId dxd A=A
FHIUGAE dxd hIUd 3T ?

(A) GeaHaed AT 9edd

(B) folar Soaren weefierd Uishan

(C) wgHar= a<

(D) UshHAE d<d

TTHRT (SAFTA) & SIvm= Tfdeh e
e ?

(A) & (SAARQC)
(B) 3fqaq (ASEAN)

(C) = g (EU)

(D) & (NATO)

15
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46.

47.

48.

Which of the following is an
indicator of the post cold war
Atlantic divide in international
relations ?

(A) The chief of the IMF
a European and the chief of
the World Bank an
American.

is
is

(B) The US dollar is appreciating

but the Euro is depreciating.

The US and the EU are
competing with each other

(®)

to invite investment from
China.

The US and the EU have
opposing views on subsidies on
Agriculture in the WTO.

(D)

The Nineteenth century European
balance of power system is known
as :

(A) Bipolar system
(B) Multipolar system
(C) Unipolar system
(D) Non-polar system

Which of the following pairs is

correct ?

(A) Hans Morgenthau — Realist theory
(B) Immanuel Wallerstein — Game theory
(C) Kenneth Waltz — Behaviourism

(D) Andre Gunder Frank — Critical theory

46.

47.

48.

FEB-15213/1
Teiclush! B TAgSRR Tealiceh
e T e e ?

(A) STaursey Aofaei=an gq@ et
AT =Aferd 319d dX SRTIAh
e YHETel U =afe
.

(B) TR SfeR™ e dmed 38 uu
T g FHH B ST

(C) =NTHYT [AAT[EH STUTTIATHIS]
A9 0T SRRt Fr=ara w99 =e]
R,

(D) STTfa® SATIR WeeAdd wdt
T STfEERAT Hedid sTHfken
3TITOT A9 A= TR Tt sffient
&

ThITUTETeT rdehTdial JAITETS  Hl
e h1d WU ?

(A) Teyda =gaen
(B) wgyda Haeen

(C) Ty Haen
(D) foR-ydta reen

(aV N (al

ETeeTish! IOl SISl SReR  S[ead]

A ?
(A) 7= e

e ISSEC I I ESEAT

(B) THUA AleReR_d — @ fagm

(C) &g afced  — adaR]

(D) 3% TR % — Tafercs fag@

16
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49. Which of the following is not an | 49. @iiclush! I a7 WRATAT T

underlying principle of India’s 4RO STURYA d A 2
foreign policy ?

- A) IIAHA FEsiad
(A) Peaceful coexistence (A) e

(B) Making military pacts (B) &R IR Y0
(C) Non-intervention
(C) BT T U
(D) Sovereign-equality of nation
states (D) TS GrEdE  qEE
50. Which of the following correctly | 50. WIEileTdeh =hIUId Ui YR Yol vE
describes the aims of India’s look east QTS ENTOMTET 3fesera T quid
policy ? a2

(A) Expansion of trade,

. . (A) =aurgfg, urfesmar a5
containment of Pakistan, s, '

countering threat of terrorism. EENRCIHEIC eI RS

(B) EXpanSiOH Of trade, energy (B) og,“l‘“{,{rqg, \Jn\;lr-qri HI&“’ ‘SLQT'Q[_
security, security of North-East e

India.

(C) Sordt gaw, Seit T, arfehearet

(C) Energy security, competition
with China, containment of IERELS

Pakistan.

(D) =MRgfg, =Rt wul, s

A

(D) Expansion of trade, competition . .
feql HWeEreala 9vE fafa

with  China, containing

US influence in the Indian —

Ocean.

17 [P.T.O.
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ROUGH WORK
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